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Class 17
Principles of Quantum Physics
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Quantum Postulates :

① Every measurable quantity
"

a
"

is

associated with an operator Ah
.

A is also called an

"

observable
"

.
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(2) Any measurement of A gives a

corresponding eigenvalue a -and the

matching eigenstate , En .
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Cii ) Teleportation .
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spin of ① will be determined if

② is measured .
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Consider parity operator El :
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Hermitian Operators :

If an operator has :

cis reel eigenvalues
cii ) eigenfunctions are orthogonal { here

distinct eigenvalues .

Ciii ) eigenfunctions form a complete set
,

ie
. Can express any function as a

superposition of eigenfunctions
then the operator is called a

Hermitian operator .

KiB : Operators finked to observables

are Hermitian .

Consider the following :
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is real

then LA > is real { CASH is also -real
.

condition fo - an observable
.
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Necessary.

Now consider an operator D ,
D= if ,

what is Dt ?
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[ apply integration by parts ,
( see the textbook) ]
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Matri n Mechanics / Representation
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